



District:

Vendor Ranking

Page 1 of 1

E5V74

Letting: 05191105 November 05, 2019 2:00 PM **Call Order:** 003 **Contract:**

Counties: ORANGE, SEMINOLE Fed Aid No: N/A

Contract Time: 180 CALENDAR DAYS

Project(s): 44400017201 (*)

Contract Desc: Desilt and Video

District 5

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	FLOTECH ENVIRONMENTAL LLC	Responsive	Winning bid	\$333,305.55	100.00%
2	ROADWAY CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$381,376.60	114.42%
3	ATLANTIC PIPE SERVICES, LLC	Responsive	Non-Winning Bid	\$402,690.25	120.82%
4	SOUTHEAST PIPE SURVEY, INC.	Responsive	Non-Winning Bid	\$433,218.60	129.98%
5	MAER HOMES, LLC	Responsive	Non-Winning Bid	\$491,115.22	147.35%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Page 1 of 6

11/18/2019

Letting: 05191105 November 05, 2019 Call Order: 003 Contract: E5V74

District: District 5 Counties: ORANGE, SEMINOLE Fed Aid No: N/A

Contract Time: 180 CALENDAR DAYS

Project(s): 44400017201 (*)

Contract Descr: Desilt and Video

FDOT District 5

Proposal ID No.: E5V74

Financial Project No.: 444000-1-72-01

Fiscal Year: 2020

Counties: Seminole, Orange Contract Calendar Days: 180

Lead Time: 14 Days

This is a Maintenance Pay Item Project. This project is reserved for Business Development Initiative Bidding.

Intent: The work under this Contract consists of storm water pipe desilting and providing color videos on specified roadways in Orange and Seminole Counties according to the attached plans.

BUSINESS DEVELOPMENT INITIATIVE (BDI) -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/egualopportunity/bdi.shtm

For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdi-projects.html

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm. It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us.

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the project's major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in AASHTOWare Project Bids. The BDI Reference Sheet may be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and my be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form (Form No. 375-020-09).



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Lettin	g: 05191105 N	lovember 05,	2019 Ca	II Order: 003		Contract:	E5V74	
	Line No / Item ID Alternate Item Description		(1) FLOTECH ENVIRONMENTAL LLC		(2) ROA CONSTRUC		(3) ATLANTIC PIPE SERVICES, LLC	
() in	dicates item is bid as Lump Sum	Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	CLEAN DRAIN	AGE STRUCTURI	ES (LF)				
0005 MOBILI	0101 1 ZATION	(1.000) LS	1.00000	1.00	35,256.60000	35,256.60	1.00000	1.00
0010 MAINTE	0102 1 ENANCE OF TRAFFIC	(1.000) DA (LS)	1.00000	1.00	3,000.00000	3,000.00	15,000.00000	15,000.00
0015 DESILT	0430 94 1 ING PIPE, 0 - 24"	46,455.000 LF	3.00000	139,365.00	1.00000	46,455.00	3.00000	139,365.00
0020 DESILT	0430 94 2 ING PIPE, 25 - 36"	16,331.000 LF	3.60000	58,791.60	2.00000	32,662.00	4.00000	65,324.00
0025 DESILT	0430 94 3 ING PIPE, 37 - 48"	4,935.000 LF	5.40000	26,649.00	3.00000	14,805.00	6.95000	34,298.25
0030 DESILT	0430 94 4 ING PIPE, 49 - 60"	1,305.000 LF	7.25000	9,461.25	8.00000	10,440.00	9.90000	12,919.50
0035 DESILT	0430 94 5 ING PIPE, 61" OR GREATER	3,960.000 LF	7.50000	29,700.00	5.00000	19,800.00	11.25000	44,550.00
0040 STORM CAMER	E432 4 SEWER INSPECTION (VIDE (A)	72,986.000 O LF	0.95000	69,336.70	3.00000	218,958.00	1.25000	91,232.50



Contract Grand Totals:

Florida Department of Transportation

11/18/2019

Tabulation of Bids

Page 3 of 6

402,690.25

Letting:	05191105	November 05,	2019 C	Call Order: 003		Contract:	E5V74	
	Line No / Item ID Alternate Item Description		y (1) FLOTECH ENVIRONMENTAL LL		(2) ROADWAY CONSTRUCTION, LLC		(3) ATLANTIC PIPE SERVICES, LLC	
() indicates iten	m is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	ON: 0001	CLEAN DRAIN	AGE STRUCTU	RES (LF)				
	EAN DRAINAGE S RUCTURES (LF)	Section Totals:		\$333,305.55		\$381,376.60		\$402,690.25

\$333,305.55

\$381,376.60



Page 4 of 6

Florida Department of Transportation



Tabulation of Bids

Letting	j: 0519110	November 05,	2019 Cal	l Order: 003		Contract:	E5V74	
	No / Item ID A Description	Iternate Quantity Units	(4) SOUTHEAST INC		(5) MAER H	OMES, LLC		
() ind	icates item is bid as Lur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	CLEAN DRAIN	AGE STRUCTURE	ES (LF)				
0005 MOBILIZ	0101 1 ZATION	(1.000) LS	5,460.00000	5,460.00	40,019.72000	40,019.72		
0010 MAINTE	0102 1 NANCE OF TRAFFIO	(1.000) DA (LS)	50,000.00000	50,000.00	12,500.00000	12,500.00		
0015 DESILTI	0430 94 1 NG PIPE, 0 - 24"	46,455.000 LF	2.80000	130,074.00	4.00000	185,820.00		
0020 DESILTI	0430 94 2 NG PIPE, 25 - 36"	16,331.000 LF	4.10000	66,957.10	6.00000	97,986.00		
0025 DESILTI	0430 94 3 NG PIPE, 37 - 48"	4,935.000 LF	5.10000	25,168.50	8.00000	39,480.00		
0030 DESILTI	0430 94 4 NG PIPE, 49 - 60"	1,305.000 LF	8.00000	10,440.00	10.00000	13,050.00		
0035 DESILTI	0430 94 5 NG PIPE, 61" OR GF	3,960.000 REATER LF	9.00000	35,640.00	12.00000	47,520.00		
0040 STORM CAMERA	E432 4 SEWER INSPECTIO A)	72,986.000 N (VIDEO LF	1.50000	109,479.00	0.75000	54,739.50		



11/18/2019

Tabulation of Bids

Page 5 of 6

Letting:	05191105	November 05,	2019 C	all Order: 003		Contract:	E5V74	
Line No / Item I		ate Quantity Units	, ,	ST PIPE SURVEY, NC.	(5) MAER I	HOMES, LLC		
() indicates item i	s bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0001 CLEAN DRAINAGE STRUCTURES (LF)

0001 CLEAN DRAINAGE Section Totals: \$433,218.60 \$491,115.22

STRUCTURES (LF)

Contract Grand Totals: \$433,218.60 \$491,115.22



11/18/2019

Tabulation of Bids

Page 6 of 6

Letting: 05191105 November 05, 2019 **Call Order:** 003 **Contract:** E5V74

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.